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2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHEEZANYEFA 2,850
301 et A3z 90,000 90,000 0
MIIEE43 90,000 90,000 0
OOelE 28 OtIIE A3 90,000
FHEE A 38,851,597 970,000 37,881,597
= 35,008,597
X 600,000
< 3,243,000
FHZ M 38,851,597 970,000 37,881,597
= 35,008,597
Xl 600,000
< 3,243,000
SEAF=ANSEHLSAS XA 750,000 911,000 A 161,000
Xl 600,000
< 150,000
403 A X EHHSH20IA 750,000 911,000 A 161,000
Xl 600,000
< 150,000
01 XM A=LE L 750,000 911,000 A 161,000
OZAIF=NEE HEAML(ZA2HASN) 600,000
Xl 600,000
OZsF=8 ZEAE HH 150,000
AECe R QIEE X 25,000 25,000 0
402 RI2HX20l 25,000 25,000 0
01 It t2 AP B X 25,000 25,000 0
OAME2 HRIIAY XA 25,000
ME22 A==23 & A& 34,000 34,000 0
307 gl2tol & 34,000 34,000 0
04 DIZHHALALSE E X 34,000 34,000 0
O =23 34,000
FAHSHIXZ ALY 37,042,597 0 37,042,597
= 35,008,597
< 2,034,000
308 XX EHSOIA 36,862,597 0 36,862,597
= 35,008,597
< 1,854,000
01 IXNSHHBNEES 36,862,597 0 36,862,597
FHSOHAE 36,862,597
= 35,008,597
< 1,854,000
403 A X EHHS =0l A 180,000 0 180,000
01 X SHHX2E = 180,000 0 180,000




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONEX. e =& FHESE HHAS 180,000
SNEXNREZ SE3H E&(2006E 0= 0I=2 1,000,000 0 1,000,000
)
703 WSHIEEHEES 1,000,000 0 1,000,000
N HIEES 1,000,000 0 1,000,000
O2006E 0% stuE 23 0I2EH A 1,000,000
SAITH A 4,392,000 0 4,392,000
= 3,600,000
< 792,000
S ALTH A4 4,392,000 0 4,392,000
= 3,600,000
< 792,000
SN A& ALY 4,392,000 0 4,392,000
= 3,600,000
< 792,000
403 MtXISHHE A0l E 4,392,000 0 4,392,000
= 3,600,000
= 792,000
01 AXSHMA=2EE 4,392,000 0 4,392,000
OZATHE S E AL 4,320,000
= 3,600,000
< 720,000
O AITH A S 22 3t AHY 72,000
SEMHE SZFH 4,284,000 4,589,000 A 305,000
= 2,880,000
< 1,404,000
SEHE 33 E 4,284,000 4,589,000 A 305,000
= 2,880,000
< 1,404,000
SsHEBEEUASE XA 540,000 510,000 30,000
403 MHXSHHSA=0l& 540,000 510,000 30,000
01 X SHMA=LE L 540,000 510,000 30,000
OsHEEIZEHI ALY 540,000
SdiOIE HMalAY 3,744,000 2,784,000 960,000
= 2,880,000
< 864,000
403 XSS =0l & 3,744,000 2,784,000 960,000
= 2,880,000
< 864,000
01 *XSHMA2E X 3,744,000 2,784,000 960,000
OZdi0lE M2l AtY 3,744,000
= 2,880,000
< 864,000

w




EM AT AL
HH: HRES(ASTAD)
ol BEXE (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HRES(HASZAID) 1,172,831 1,005,025 167,806
28XE 1,172,831 1,005,025 167,806
gttt 3 J| E 1,172,831 1,005,025 167,806
802 Br&t 3 J| EF 1,172,831 1,005,025 167,806
03 Ug=s 1,172,831 1,005,025 167,806
OsHEFEINEAMY SH3als B3+ Al
o phE 888,400
OsHEFEINEAMY X33l 0lX==g Al
= phE 284,431
HE2IAZH(ASTAIDY) 69,000 69,000 0
JlE&dl 69,000 69,000 0
JlE2&l 69,000 69,000 0
201 -4 32,400 32,400 0
01 At 22l 32,400 32,400 0
OAEZANIR2FA 32,400
202 O4dl 32,400 32,400 0
01 = LH 4 Hi 32,400 32,400 0
OH=EZANYRFA 32,400
203 R =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
OA=T AL 4,200




